44F3 —

146 146
55, 55 55 1 55 |
S T s
= o] },7, } BAN(T 60.56% 3.8
| -
i 146 ‘ Fyh-KL b M12
\ L s
-
o
. | 1]
N o ' il il
# 8 ‘ 1@V U-} n n
2 | IR <~
= i i
& | v 5 G.L 1"
146 146 >
55 55
15 © 2> © 175 | 55 | 55 |
= —+5 230 2400
T e
8 (285171 2860
A AD ‘ e —>H
230 2400 1230
GRS 2860
EBRE 1/30] sou. 7vn-tiEsmL 27, [ EWERAR 1/5 |
(£@5ATE) 2860 (B#51) 2380
230 2400 230 190 2000 190

I
ﬂ L vl

gEp. L vaseL
i \ ! \ \
[E@EEE 1/30] [ERWES 1/30|
m gﬂim Z%ﬁgologéms_s :Ekgguiggg:;;;; EEA% # B B ZEEHE k] 71v) 48 & |E05248 R Frvy TELH E Bl a
B [=E W B
@ 1A —iL—U @ IVATUTIH @ RIS c ‘ [FmEs — B
@ ERERSTE : [ ) KE%%%“/Z?A%&IQ . = : - : ﬁf/3041/5 ﬁﬁiﬁ%ﬁ -Og‘olg | BS-24SOOS :I:E]\]’)U—}; 7 B6524Ss1.d01 KD




